Hm @ ﬁ “ Multipliser desimaler med 10 100 000 000

StudentName: __ ExamDate: __ ExamScore: ____
1,525 % 1000 = 7,092 x 1000 =
7,745 x 1000 = 6,679 x 1000 =
3,362 x 100 = 10, 821 x 1000 =
3,207 x 10 = 9,049 x 100 =
1,018 x 100 = 10,337 x 10 =
2,025 x 10 = 1,914 x 1000 =
6,466 x 10 = 7,865 x 100 =
10,362 x 10 = 6,962 x 1000 =
10,835 x 10 = 9,107 x 1000 =
5,85 x 100 = 8,499 x 100 =
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HI\ @‘ I,lt “ Multipliser desimaler med 10 100 000 000

StudentName: ExamDate: __ ExamScore: ____
1,525 x 1000 = 1525 7,092 x 1000 = 7092
7,745 x 1000 = 7745 6,679 x 1000 = 6679
3,362 x 100 = 336.2 10, 821 x 1000 = 10821
3,207 x 10 = 32.07 9,049 x 100 =904.9
1,018 x 100 = 101.8 10,337 x 10 = 103.37
2,025 x 10 =20.25 1,914 x 1000 = 1914
6,466 x 10 = 64.66 7,865 x 100 = 786.5
10,362 x 10 = 103.62 6, 962 x 1000 = 6962
10, 835 x 10 = 108.35 9,107 x 1000 = 9107
5,85 x 100 = 585 8,499 x 100 = 849.9
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